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> Choose the best choice.
35. The cold season ----- from 90 to 120 days in some parts of the country.

a) ranges b) disappears c) meets the needs d) exchanges
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36- Having an active lifestyle can ------------ the risks of some diseases
such as high blood pressure and diabetes.
a) increase b) control C) measure d) endanger‘

37- Choose the suitable statement for the picture. rﬂ-}f‘ Icfaméhigﬂ'“"f':imﬂ
a) Hello is the only word to start a conversation in %E'ﬁ,’:,nhhg““-lo &Eﬁ;‘:rn

2 pHiy gOla s
all languages. 3ok el Q"'.,,.
b) There are different words in different languages : g ﬁ[ﬁt.!!?‘i!ihﬁitﬁlgl'“*f-?
to say Hello. GrmAhoj s MR Ol

¢) In most languages, people use the word Hello for greeting.
d) All people in the world just use ;s.. and Bonjour as well as Hello.

38- Choose the suitable statement for the picture.
a) Jogging makes lifespan longer. _
b) Swimming helps people to breathe better. ’”
c) Surfing is as pleasant as running. & & R
d) People are interested in mountain climbing.

39- All the students need to read many ------- and ------- about history.
a) books - information b) information - magazines
c) books - magazine d) magazines - books

40- Zahra asked her brother to buy ----- slices of bread for dinner that night.
a) a little b) much c) some d) one

> Read the passage then choose the best choice.

There are some easy ways to know technology addiction. First, you may spend
hours in front of the screen after deciding to stop watching the monitor. Second,
you may complain about physical problems which are the result of using computer
for a long time. Third, you may feel nervous when away from a computer. The
next is that you may prefer talking over the internet to speaking face to face
with others. It, of course, indicates that you have an unknown personality.
Finally, staying on the computer late at night is a desire you may not notice for
a long time.

41- The word "------------ " is closest in meaning to the word "monitor".
a) watching b) computer c) screen d) child

42- In the above paragraph, the word "---" is used as the subject of the verb.
a) talking b) away c) first d) staying

43- Which picture shows the idea of the passage besf‘)
%/[’
c)

44- The best topic for' 1'he above paragraph is ------------
a) Advantages of Addiction b) Advantages of Technology
c) Signs of Technology Addiction d) Technology, Good or Bad?
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